## Multiply and Divide by 1000 (A)

Find each product or quotient.

$$8.9128 \div 1,000 =$$

$$8.9259 \times 1,000 =$$

$$7.6 \div 1,000 =$$

$$8.2 \div 1,000 =$$

$$7.3 \times 1,000 =$$

$$8.316 \times 1,000 =$$

$$4.93 \div 1,000 =$$

$$3.5625 \div 1,000 =$$

$$0.62 \times 1,000 =$$

$$2.2 \times 1,000 =$$

$$4.3 \div 1,000 =$$

$$7.9 \div 1,000 =$$

$$6.0845 \div 1,000 =$$

$$3.1 \times 1,000 =$$

$$9.83 \div 1,000 =$$

$$2.8 \div 1,000 =$$

$$6 \div 1,000 =$$

$$4.26 \div 1,000 =$$

$$5.45 \times 1,000 =$$

$$3.9 \div 1,000 =$$

### Multiply and Divide by 1000 (A) Answers

Find each product or quotient.

$$8.9128 \div 1,000 = 0.0089128$$

$$8.9259 \times 1,000 = 8,925.9$$

$$7.6 \div 1,000 = 0.0076$$

$$8.2 \div 1,000 = 0.0082$$

$$7.3 \times 1,000 = 7,300$$

$$8.316 \times 1,000 = 8,316$$

$$4.93 \div 1,000 = 0.00493$$

$$3.5625 \div 1,000 = 0.0035625$$

$$0.62 \times 1,000 = 620$$

$$2.2 \times 1,000 = 2,200$$

$$4.3 \div 1,000 = 0.0043$$

$$7.9 \div 1,000 = 0.0079$$

$$6.0845 \div 1,000 = 0.0060845$$

$$3.1 \times 1,000 = 3,100$$

$$9.83 \div 1,000 = 0.00983$$

$$2.8 \div 1,000 = 0.0028$$

$$6 \div 1,000 = 0.006$$

$$4.26 \div 1,000 = 0.00426$$

$$5.45 \times 1,000 = 5,450$$

$$3.9 \div 1,000 = 0.0039$$

# Multiply and Divide by 1000 (B)

Find each product or quotient.

$$7.3 \div 1,000 =$$

$$1.9098 \div 1,000 =$$

$$3.54 \div 1,000 =$$

$$8.371 \times 1,000 =$$

$$9.43 \times 1,000 =$$

$$5.51 \times 1,000 =$$

$$2.635 \div 1,000 =$$

$$9.706 \div 1,000 =$$

$$3.33 \times 1,000 =$$

$$9.04 \div 1,000 =$$

$$5.9328 \div 1,000 =$$

$$3.0915 \times 1,000 =$$

$$4.772 \div 1,000 =$$

$$5.631 \div 1,000 =$$

$$7 \times 1,000 =$$

$$4.62 \times 1,000 =$$

$$0.5 \times 1,000 =$$

$$9.22 \times 1,000 =$$

$$3.4 \div 1,000 =$$

$$4 \div 1,000 =$$

### Multiply and Divide by 1000 (B) Answers

Find each product or quotient.

$$7.3 \div 1,000 = 0.0073$$

$$1.9098 \div 1,000 = 0.0019098$$

$$3.54 \div 1,000 = 0.00354$$

$$8.371 \times 1,000 = 8,371$$

$$9.43 \times 1,000 = 9,430$$

$$5.51 \times 1,000 = 5,510$$

$$2.635 \div 1,000 = 0.002635$$

$$9.706 \div 1,000 = 0.009706$$

$$3.33 \times 1,000 = 3,330$$

$$9.04 \div 1,000 = 0.00904$$

$$5.9328 \div 1,000 = 0.0059328$$

$$3.0915 \times 1,000 = 3,091.5$$

$$4.772 \div 1,000 = 0.004772$$

$$5.631 \div 1,000 = 0.005631$$

$$7 \times 1,000 = 7,000$$

$$4.62 \times 1,000 = 4,620$$

$$0.5 \times 1,000 = 500$$

$$9.22 \times 1,000 = 9,220$$

$$3.4 \div 1,000 = 0.0034$$

$$4 \div 1,000 = 0.004$$

# Multiply and Divide by 1000 (C)

Find each product or quotient.

$$7.4389 \times 1,000 =$$

$$9.23 \div 1,000 =$$

$$7.2424 \div 1,000 =$$

$$5.25 \div 1,000 =$$

$$4.34 \div 1,000 =$$

$$9.112 \times 1,000 =$$

$$9.88 \times 1,000 =$$

$$6.187 \div 1,000 =$$

$$4.382 \div 1,000 =$$

$$8.005 \div 1,000 =$$

$$9.541 \div 1,000 =$$

$$3.1 \div 1,000 =$$

$$5.29 \times 1,000 =$$

$$5.37 \div 1,000 =$$

$$5.8 \times 1,000 =$$

$$9.66 \times 1,000 =$$

$$7.0814 \div 1,000 =$$

$$3.6377 \times 1,000 =$$

$$0.6 \div 1,000 =$$

$$7.9 \div 1,000 =$$

### Multiply and Divide by 1000 (C) Answers

Find each product or quotient.

$$7.4389 \times 1,000 = 7,438.9$$

$$9.23 \div 1,000 = 0.00923$$

$$7.2424 \div 1,000 = 0.0072424$$

$$5.25 \div 1,000 = 0.00525$$

$$4.34 \div 1,000 = 0.00434$$

$$9.112 \times 1,000 = 9,112$$

$$9.88 \times 1,000 = 9,880$$

$$6.187 \div 1,000 = 0.006187$$

$$4.382 \div 1,000 = 0.004382$$

$$8.005 \div 1,000 = 0.008005$$

$$9.541 \div 1,000 = 0.009541$$

$$3.1 \div 1,000 = 0.0031$$

$$5.29 \times 1,000 = 5,290$$

$$5.37 \div 1,000 = 0.00537$$

$$5.8 \times 1,000 = 5,800$$

$$9.66 \times 1,000 = 9,660$$

$$7.0814 \div 1,000 = 0.0070814$$

$$3.6377 \times 1,000 = 3,637.7$$

$$0.6 \div 1,000 = 0.0006$$

$$7.9 \div 1,000 = 0.0079$$

# Multiply and Divide by 1000 (D)

Find each product or quotient.

$$1.6802 \div 1,000 =$$

$$8.7 \div 1,000 =$$

$$6.344 \times 1,000 =$$

$$1.55 \times 1,000 =$$

$$5.54 \times 1,000 =$$

$$6.8 \div 1,000 =$$

$$1.8 \div 1,000 =$$

$$3.162 \div 1,000 =$$

$$5.2876 \div 1,000 =$$

$$7.962 \div 1,000 =$$

$$6.8439 \times 1,000 =$$

$$4.9 \times 1,000 =$$

$$1.3 \div 1,000 =$$

$$1.4 \times 1,000 =$$

$$3.8 \div 1,000 =$$

$$3.5132 \times 1,000 =$$

$$1.4 \times 1,000 =$$

$$7.8046 \div 1,000 =$$

$$5.4325 \div 1,000 =$$

$$9.1144 \times 1,000 =$$

### Multiply and Divide by 1000 (D) Answers

Find each product or quotient.

$$1.6802 \div 1,000 = 0.0016802$$

$$8.7 \div 1,000 = 0.0087$$

$$6.344 \times 1,000 = 6,344$$

$$1.55 \times 1,000 = 1,550$$

$$5.54 \times 1,000 = 5,540$$

$$6.8 \div 1,000 = 0.0068$$

$$1.8 \div 1,000 = 0.0018$$

$$3.162 \div 1,000 = 0.003162$$

$$5.2876 \div 1,000 = 0.0052876$$

$$7.962 \div 1,000 = 0.007962$$

$$6.8439 \times 1,000 = 6,843.9$$

$$4.9 \times 1,000 = 4,900$$

$$1.3 \div 1,000 = 0.0013$$

$$1.4 \times 1,000 = 1,400$$

$$3.8 \div 1,000 = 0.0038$$

$$3.5132 \times 1,000 = 3,513.2$$

$$1.4 \times 1,000 = 1,400$$

$$7.8046 \div 1,000 = 0.0078046$$

$$5.4325 \div 1,000 = 0.0054325$$

$$9.1144 \times 1,000 = 9,114.4$$

# Multiply and Divide by 1000 (E)

Find each product or quotient.

$$8.4524 \div 1,000 =$$

$$5.1889 \times 1,000 =$$

$$9 \times 1,000 =$$

$$5.657 \div 1,000 =$$

$$1.9101 \div 1,000 =$$

$$8.082 \times 1,000 =$$

$$9.7 \times 1,000 =$$

$$3.1 \times 1,000 =$$

$$3.57 \div 1,000 =$$

$$3.9 \div 1,000 =$$

$$4.3592 \div 1,000 =$$

$$4.3 \times 1,000 =$$

$$4.1307 \div 1,000 =$$

$$0.638 \times 1,000 =$$

$$1.78 \times 1,000 =$$

$$0.2 \div 1,000 =$$

$$2.8 \div 1,000 =$$

$$6.455 \div 1,000 =$$

$$5.09 \times 1,000 =$$

$$3.18 \div 1,000 =$$

### Multiply and Divide by 1000 (E) Answers

Find each product or quotient.

$$8.4524 \div 1,000 = 0.0084524$$

$$5.1889 \times 1,000 = 5,188.9$$

$$9 \times 1,000 = 9,000$$

$$5.657 \div 1,000 = 0.005657$$

$$1.9101 \div 1,000 = 0.0019101$$

$$8.082 \times 1,000 = 8,082$$

$$9.7 \times 1,000 = 9,700$$

$$3.1 \times 1,000 = 3,100$$

$$3.57 \div 1,000 = 0.00357$$

$$3.9 \div 1,000 = 0.0039$$

$$4.3592 \div 1,000 = 0.0043592$$

$$4.3 \times 1,000 = 4,300$$

$$4.1307 \div 1,000 = 0.0041307$$

$$0.638 \times 1,000 = 638$$

$$1.78 \times 1,000 = 1,780$$

$$0.2 \div 1,000 = 0.0002$$

$$2.8 \div 1,000 = 0.0028$$

$$6.455 \div 1,000 = 0.006455$$

$$5.09 \times 1,000 = 5,090$$

$$3.18 \div 1,000 = 0.00318$$

### Multiply and Divide by 1000 (F)

Find each product or quotient.

$$6.97 \div 1,000 =$$

$$6.343 \times 1,000 =$$

$$1.3395 \times 1,000 =$$

$$0.7913 \times 1,000 =$$

$$4.8 \div 1,000 =$$

$$3.728 \times 1,000 =$$

$$7.1 \div 1,000 =$$

$$9.0884 \div 1,000 =$$

$$7.88 \div 1,000 =$$

$$8.1011 \div 1,000 =$$

$$3.54 \div 1,000 =$$

$$8.963 \times 1,000 =$$

$$9.8 \times 1,000 =$$

$$7.642 \times 1,000 =$$

$$3.1 \times 1,000 =$$

$$7.8 \div 1,000 =$$

$$8.8 \times 1,000 =$$

$$4.8471 \div 1,000 =$$

$$3.1 \times 1,000 =$$

$$9.11 \div 1,000 =$$

### Multiply and Divide by 1000 (F) Answers

Find each product or quotient.

$$6.97 \div 1,000 = 0.00697$$

$$6.343 \times 1,000 = 6,343$$

$$1.3395 \times 1,000 = 1,339.5$$

$$0.7913 \times 1,000 = 791.3$$

$$4.8 \div 1,000 = 0.0048$$

$$3.728 \times 1,000 = 3,728$$

$$7.1 \div 1,000 = 0.0071$$

$$9.0884 \div 1,000 = 0.0090884$$

$$7.88 \div 1,000 = 0.00788$$

$$8.1011 \div 1,000 = 0.0081011$$

$$3.54 \div 1,000 = 0.00354$$

$$8.963 \times 1,000 = 8,963$$

$$9.8 \times 1,000 = 9,800$$

$$7.642 \times 1,000 = 7,642$$

$$3.1 \times 1,000 = 3,100$$

$$7.8 \div 1,000 = 0.0078$$

$$8.8 \times 1,000 = 8,800$$

$$4.8471 \div 1,000 = 0.0048471$$

$$3.1 \times 1,000 = 3,100$$

$$9.11 \div 1,000 = 0.00911$$

# Multiply and Divide by 1000 (G)

Find each product or quotient.

$$9.488 \div 1,000 =$$

$$9.1491 \div 1,000 =$$

$$1.86 \div 1,000 =$$

$$9.16 \times 1,000 =$$

$$2.265 \div 1,000 =$$

$$7.54 \div 1,000 =$$

$$7.34 \div 1,000 =$$

$$1.586 \times 1,000 =$$

$$7.1 \div 1,000 =$$

$$8.2 \times 1,000 =$$

$$4.931 \times 1,000 =$$

$$3 \times 1,000 =$$

$$2.2506 \div 1,000 =$$

$$0.1 \div 1,000 =$$

$$3.9 \div 1,000 =$$

$$2.76 \times 1,000 =$$

$$8.5 \times 1,000 =$$

$$8.89 \div 1,000 =$$

$$7.37 \div 1,000 =$$

$$3.3099 \times 1,000 =$$

### Multiply and Divide by 1000 (G) Answers

Find each product or quotient.

$$9.488 \div 1,000 = 0.009488$$

$$9.1491 \div 1,000 = 0.0091491$$

$$1.86 \div 1,000 = 0.00186$$

$$9.16 \times 1,000 = 9,160$$

$$2.265 \div 1,000 = 0.002265$$

$$7.54 \div 1,000 = 0.00754$$

$$7.34 \div 1,000 = 0.00734$$

$$1.586 \times 1,000 = 1,586$$

$$7.1 \div 1,000 = 0.0071$$

$$8.2 \times 1,000 = 8,200$$

$$4.931 \times 1,000 = 4,931$$

$$3 \times 1,000 = 3,000$$

$$2.2506 \div 1,000 = 0.0022506$$

$$0.1 \div 1,000 = 0.0001$$

$$3.9 \div 1,000 = 0.0039$$

$$2.76 \times 1,000 = 2,760$$

$$8.5 \times 1,000 = 8,500$$

$$8.89 \div 1,000 = 0.00889$$

$$7.37 \div 1,000 = 0.00737$$

$$3.3099 \times 1,000 = 3,309.9$$

# Multiply and Divide by 1000 (H)

Find each product or quotient.

$$5.331 \div 1,000 =$$

$$8.829 \div 1,000 =$$

$$1.311 \div 1,000 =$$

$$3.0621 \div 1,000 =$$

$$8 \div 1,000 =$$

$$8.1 \times 1,000 =$$

$$5.7728 \div 1,000 =$$

$$0.92 \times 1,000 =$$

$$7.596 \div 1,000 =$$

$$6.5009 \times 1,000 =$$

$$3.2265 \div 1,000 =$$

$$4.918 \times 1,000 =$$

$$6.406 \times 1,000 =$$

$$6.19 \times 1,000 =$$

$$5.2364 \div 1,000 =$$

$$2.82 \times 1,000 =$$

$$8.66 \div 1,000 =$$

$$5.302 \times 1,000 =$$

$$1.086 \times 1,000 =$$

$$2.807 \times 1,000 =$$

### Multiply and Divide by 1000 (H) Answers

Find each product or quotient.

$$5.331 \div 1,000 = 0.005331$$

$$8.829 \div 1,000 = 0.008829$$

$$1.311 \div 1,000 = 0.001311$$

$$3.0621 \div 1,000 = 0.0030621$$

$$8 \div 1,000 = 0.008$$

$$8.1 \times 1,000 = 8,100$$

$$5.7728 \div 1,000 = 0.0057728$$

$$0.92 \times 1,000 = 920$$

$$7.596 \div 1,000 = 0.007596$$

$$6.5009 \times 1,000 = 6,500.9$$

$$3.2265 \div 1,000 = 0.0032265$$

$$4.918 \times 1,000 = 4,918$$

$$6.406 \times 1,000 = 6,406$$

$$6.19 \times 1,000 = 6,190$$

$$5.2364 \div 1,000 = 0.0052364$$

$$2.82 \times 1,000 = 2,820$$

$$8.66 \div 1,000 = 0.00866$$

$$5.302 \times 1,000 = 5,302$$

$$1.086 \times 1,000 = 1,086$$

$$2.807 \times 1,000 = 2,807$$

# Multiply and Divide by 1000 (I)

Find each product or quotient.

$$1.11 \div 1,000 =$$

$$7.016 \div 1,000 =$$

$$6.4075 \times 1,000 =$$

$$3.0154 \div 1,000 =$$

$$7.677 \div 1,000 =$$

$$2.3 \div 1,000 =$$

$$0.799 \times 1,000 =$$

$$8.2358 \div 1,000 =$$

$$4.0472 \times 1,000 =$$

$$0.7 \div 1,000 =$$

$$9.459 \div 1,000 =$$

$$3.505 \times 1,000 =$$

$$6.3261 \div 1,000 =$$

$$0.8192 \div 1,000 =$$

$$5.803 \div 1,000 =$$

$$2.738 \div 1,000 =$$

$$8.65 \div 1,000 =$$

$$2.67 \div 1,000 =$$

$$4.09 \times 1,000 =$$

$$1.35 \div 1,000 =$$

# Multiply and Divide by 1000 (I) Answers

Find each product or quotient.

$$1.11 \div 1,000 = 0.00111$$

$$7.016 \div 1,000 = 0.007016$$

$$6.4075 \times 1,000 = 6,407.5$$

$$3.0154 \div 1,000 = 0.0030154$$

$$7.677 \div 1,000 = 0.007677$$

$$2.3 \div 1,000 = 0.0023$$

$$0.799 \times 1,000 = 799$$

$$8.2358 \div 1,000 = 0.0082358$$

$$4.0472 \times 1,000 = 4,047.2$$

$$0.7 \div 1,000 = 0.0007$$

$$9.459 \div 1,000 = 0.009459$$

$$3.505 \times 1,000 = 3,505$$

$$6.3261 \div 1,000 = 0.0063261$$

$$0.8192 \div 1,000 = 0.0008192$$

$$5.803 \div 1,000 = 0.005803$$

$$2.738 \div 1,000 = 0.002738$$

$$8.65 \div 1,000 = 0.00865$$

$$2.67 \div 1,000 = 0.00267$$

$$4.09 \times 1,000 = 4,090$$

$$1.35 \div 1,000 = 0.00135$$

## Multiply and Divide by 1000 (J)

Find each product or quotient.

$$9.81 \times 1,000 =$$

$$0.8722 \div 1,000 =$$

$$5 \times 1,000 =$$

$$9.884 \div 1,000 =$$

$$6.905 \div 1,000 =$$

$$8.8 \div 1,000 =$$

$$5.55 \div 1,000 =$$

$$0.63 \div 1,000 =$$

$$2.89 \times 1,000 =$$

$$7.73 \times 1,000 =$$

$$8.0971 \div 1,000 =$$

$$2.2 \div 1,000 =$$

$$6.3 \div 1,000 =$$

$$6.6436 \div 1,000 =$$

$$8.597 \times 1,000 =$$

$$0.46 \times 1,000 =$$

$$0.8 \div 1,000 =$$

$$7.6 \div 1,000 =$$

$$6.92 \div 1,000 =$$

$$8.53 \times 1,000 =$$

### Multiply and Divide by 1000 (J) Answers

Find each product or quotient.

$$9.81 \times 1,000 = 9,810$$

$$0.8722 \div 1,000 = 0.0008722$$

$$5 \times 1,000 = 5,000$$

$$9.884 \div 1,000 = 0.009884$$

$$6.905 \div 1,000 = 0.006905$$

$$8.8 \div 1,000 = 0.0088$$

$$5.55 \div 1,000 = 0.00555$$

$$0.63 \div 1,000 = 0.00063$$

$$2.89 \times 1,000 = 2,890$$

$$7.73 \times 1,000 = 7,730$$

$$8.0971 \div 1,000 = 0.0080971$$

$$2.2 \div 1,000 = 0.0022$$

$$6.3 \div 1,000 = 0.0063$$

$$6.6436 \div 1,000 = 0.0066436$$

$$8.597 \times 1,000 = 8,597$$

$$0.46 \times 1,000 = 460$$

$$0.8 \div 1,000 = 0.0008$$

$$7.6 \div 1,000 = 0.0076$$

$$6.92 \div 1,000 = 0.00692$$

$$8.53 \times 1,000 = 8,530$$